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2. Attempt all questions.
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I. (a) Define the scope of financial management in a modern enterprise. (6)
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(b)y Mr. Ajay is planning to retire this year. He is given two choices. His

(a)

(b)y

company can either pay him a lump sum of Rs. 4,00,000 or Rs. 60,000
life time annuity. Mr. Ajay is in good health and expects to live for at
least 20 more years. If he has the opportunity to earn interest at the rate
of 12% per annum, which alternative should he choose ? Would his
decision change if he has the opportunity to earn an interest rate of 14% per

annum ?

PVAF (12%, 20 YEARS) = 7.469; PVAF (14%, 20 years) = 6.623  (9)
(OR)

Explain and illustrate terminal cash inflows. (6)

Explain the concept of profit maximization and wealth maximization. Which
of these, do you think is a better operational guide for a finance manager ?
And why ? (9)

(%) T smyfe Iwra A weea & fawa- e @) it i

(@) fro 39 =@ aq FAAET B A A a1 @ ¢ | I T A fawed 21 3w

FEE A A I8 TE 9 T 4.00.000 T FHEA B AW T 60.000 I rona anfient
TR B 1 fo 39T 3 e A ? AR W Y w9 20 IR qu 9F W F s
W B 1 afe 398 U ufdad (2% @ o SE 1 EE 7, Al 3 @i 9l
e gmen =nfdw 7w SR fvie sed S Al 39 99 wihaw 14% s
FAM F G IS B 7

PVAF (12%, 20 a¥) = 7.469: PVAF (14%, 20 99) = 6.623
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(a) Differentiate between business risk and financial risk. (6)

(b) A company is thinking of installing a new plant which costs Rs. 4,00,000.
The plant has a life of 8 years and is expected to generate an annual
sales of Rs. 2,70,000. The salvage value of the plant is Rs. 40,000. The
Company uses straight line method of depreciation. The plant will require
additional working capital of Rs. 20,000. The costs of operations are as

follows :
Rs.
Materials Cost 90,000
Labour 50.000
Other cash operating charges 30,000
Tax rate 1s 40%.
Calculate all relevant cash flows. (9)

(OR)

A Company is considering to purchase a machine. Two machines "A” & "B’
are available, each costing Rs. 5,00,000. The cost of capital of the company

is 10%. Earnings after tax are expected to be as follows :

Year Machinc A (Rs.) Machine B (Rs.)
1 1,50,000 50,000
2 2.00.000 1,50,000
3 2,50.000 2,00,000
4 1.50,000 3,00.000
5 80.000 1,880,000
Calculate :

(1) Average Rate of Return

(i) Nct present value

o)
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Of the two machines. which machine should be seiected ? Give reason for

your answer.

Year . 1 2 3 4 5
PVF 0.909 0.826 0.751 0.683 0.621 (15)
EERE sifad 3 fadiy oifes ¥ s Fifso )

TH FEA U T lle fWEE 9T T 4,00,000 &, T0H @ A W@ 7 | Wie &
SiaETe 8 AW 2 3t 9 Aide feit T 2,70,000 B 9t E¥3IET 2 | whie 1 SEq
T % 40,000 B | FE AR 3 AR W TS w ST FIA T | e ¥
HFIRTE EErEr Ton T 20,000 FF SNAvachar 93 | e S AR R TR 2

AHA AN - T90,000
5 3 50.000
I ASGe JHAAT qq T 30,000
WA T ' 40

TR 9o ward & AT i |

Jrerdl

U FEFA U A W F AT @R A A A IR B 3T ®, U @ an
| 35,00.000 Bt FFFR A GO AE 0% B | F-EG wAg EEtfad w @

HHEAT B -
!
t
| ag T A (3) T B (3)
1 1,50.000 50,000
2 2.00.000 1.50.000

P S]

2.50.000 2.00,000
4 1.50.000 3.00.000

S 80000 1.80.000
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aq 1 2 3 4 5
PVF 0909 0826 0.751 0.683  0.621

Jyoti Ltd. has operating profit of Rs. 8,50,000. It has an interest cost of
Rs. 50,000 and preference dividend payment of Rs. 40,000. Tax rate 1s
50%. The company has 60,000 equity shares of Rs. 10 each sclling at
Rs. 24 in the market. Find out the cost of equity. (6)

Annual sales of a company is of Rs. 60,00,000. Sales to variable cost ratio
is 150% and fixed cost other than interest 1s of Rs. 5.00.000 per annum.

The company has 11% debentures of Rs. 30.00.000. You are required to

calculate all three types of leverages. )
(OR)
Explain and illustrate Financial Break Even Point. (6)

The following information is available for ABC Ltd.

(Rs. lakhs)

Equity Share Capital (of Rs. 100 each) 40
12% debentures 40
18% term loan 120

200

(1) Determine the weighted average cost of capital of the company. The
company paid a dividend of 20%. It is expected to grow at 10%. The

market price of the share is Rs. 110,

AR
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(1) Determine the new weighted average cost of capital if tax rate is 40%

and the market price of the share is Rs. 88. 9)

(1) S@f foro &1 R =T T 8,50,000 B | 39 UM Y& oW @RTE 2 50,000 3K
HEH T ST T 40,000 € 1 R & 60,000 3REE sim § W s | T 24
R fawd €1 sfrad o cmE PR |

(9) v e it afves fasi T 60,00,000 2 1 e ¥ aRadeeier smE seaE 15%
R WG & o T e % 5,00,000 wewd ¥4 @R X (1% F=O I
% 3,00,000 & < T T W F | IR 30 B o AR 9ER @ ook (Leverage)
A W -

A4l
(31) faxig wgem- =R famg (Break Even Point) @1 aui @ Iga dfa

(d) ABC fo & faw o1 o Iuemer 2

3 @rRa H
sfEdt siw 9o (wfd s % 100) 40
[2% =01 9 . 40
[8% 3mael = 120
200

(i) ===t =t gt &t siaa siRd a1 ol e | w209 @ aen
T 21 TE Aafe A W 10% R 13w TR qed 2110 7

(ii) afe & @it = 40% B 3R AT F AR 7o T 88 B A TN I WiRa ad
AT I AT AT |
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4. (a) Explain any one of the following :
(1) Factors affecting capital structure planning of a company.

(i) Factors affecting dividend policy of a company. (6)

(b) A company has an operating profit of Rs. 4,20,000. The company has
80,000 equity shares of Rs. 10 each, retained earnings of Rs. 12,00,000
and 12% debentures of Rs. 10,00,000. The company proposes to take up
an expansion scheme for which a sum of Rs. 4,00,000 is required. It can be
raised through either issue of fresh equity shares or by raising additional
12% debentures. The expected EBIT after expansion is Rs. 4,76,000. Tax

rate i1s 50%.
(1) Advise the company as to -whi.ch source of finance is preferable.
(iry Calculate the indifference point between the two plans of financing.  (9)
(OR)
(a) Explain any one of the following :
(1) Operating cycle of a manufacturing firm.
(i) Stability in the payment of dividends. (6)

(b) Priya Ltd has EBIT of Rs. 10 lakhs. The company currently has outstanding
7% debt of Rs. 2 lakhs.

(1) Using the Net income approach, compute value of the firm and overall

cost of capital of the firm if cost of equity is 12.5%.

(i) Assume that the firm issues an additional 7% debt of Rs. 2 lakhs and
uses it to repay equity capital. Compute the new value of the firm and

overall cost of capital. Show the working of NI approach. (9)

Do)
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(37) 1 9 3 70w &1 9 iR
(i) v ¥ = 9O et I o weIfad IR 9 99 |
(i) U &Fae S AW AT & uiEe W a9 |
(q) v TR H AR A T 4,20.000 2 1 FEER D 80,000 R stw wlaswm 710
@ B, wlenRa s ¥ 12,00.000 3R 12% =91 93  10,00,000 & 7 | w0 H

we famar At @ v ® fea g 24,00,000 Imew @ | R - g EBIT
¥4,76,000 B &Y WG B | & @t & 50% B I

(i) F== =t wors AR & o @« @ | sftmma (Preferable) #
(i) et & 29 dromst & wor JerdAn g @ o AR |
Headl

() 7= A ¥ 56 v @ 3viA Sifau
(i) ve fafvstor W &t yarem Afesd
(ii) e & sy § fora

(@) forn fo @1 EBIT ¥ 10 ARG 8 | S99 &1 998 Sa6@l 7% 91 T 2.00.000
1

(i) Te 3@ fagr &1 I a=d §Y, ® & A 3K 9o anE, afe st
T AR 12.5% B, T A0 A

(i) W foF w sfaRer 7% F 22.00,000 SR FER B IR TEE AW
St ot & T w # R 7 R @ Y Aed 3R he faene) g
AN & 0T HITAC 1 NI 98" & fraeem (working) oht fewarsa

5. (a) Compute market price of share using
(1) Walter’s model

(1) Gordon's model
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on the basis of the following information.

EPS = Rs.5
D/P ratio = 60%
R = 16%
K = 12%

4

(6)

Estimate the net working capital of *Y" Ltd on the basis of the given data.

Item Cost per unit
Raw material 40
Direct labour 15
Overheads , 25
Total 80

Additional information :
(1) Units sold
(i) Selling price
(i) Raw material stock
(1v) Wbrk-in-progrcss
(v) Finished goods stock
(vi) Credit allowed to debtors
(vii) Credit allowed by suppliers
(viii) Outstanding wages and overheads
(ix) Cash required
(x) Cash sales are 25%

(OR)

52,000 per year

Rs. 100

average 3 weeks
average 2 weeks
average 4 weeks
average 6 weeks
average 4 weeks
average 2 weeks
Rs. 40,000

(9)

1710
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A company belongs to capitalization rate of 10%. It currently has outstanding
30,000 shares selling at Rs. 100 each. The firm is contemplating the declaration
of dividend of Rs. 6 per share at the end of the current financial year. The
company expects to have a net income of Rs. 3 lakhs and has a proposal for
making new investment of Rs. 6 lakhs. Show under MM assumptions that the
payment of dividend does not affect the value of the firm. (15)

(37) I9R A T A0 AT I9A wRS &Y
(i) =reex =1 HiEdA
(ii) W& =1 A

1 = & smur W

EPS = %5
D/P 3T = 60%
R = 16%
K = 12%

(3) @ 7 sifrel o1 wew A Y fro A wE FHER O W S wwEd |

" EUGE I SIECAE

Fedl A 40

T S 15

JuRena 25

Eil 80

s g
(i) festga serear 52.000 ufg ad
(ii) fasra 5 2100

(iii) = w a3 AdE
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(iv) s fAffa s
(v) dar i
(vi) ¥R = IJUR
(vii) 3mafd waia g IR
(viil) TIogd 3R IuReaa st
(ix) et SaTaEar
(x) e &t 25% @

SR2EG

a2 wE
e 4 |q=E
e 6 awE
aﬁaaw4w.
s 2 wE

40,000

TR AR TR 10% GRS 2 R 15 3R 30,000 S Seern 2 | fF 2100
ufd S ¥ i @ 1w arm A w2 6 A oW e el @ s A A @ 2y
TR @ @ I T 3,00,000 TR F wEE @ ik 2 fafm 26w o wea #
MM =3t (Assumptions ) & 3T Tasd fof I ol ST B & W 1 T

AT R |

(500
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